
Find the  indicated ,lim
x 0→

 a - 1

x

x

Since at x = 0

a = a = 1x 0

⟹ a - 1 = 0x

⟹  is  in   form also called undefined form.
a - 1

x

x 0

0

Put
a - 1 = y  ---------- 1x ( )
⟹ a = 1 + y  --------- 2x ( )
Which is in exponential form

Here 
base = a

exponent = x

So equation 2  in logarthimic form( )
1 + y = x  -------- 3loga( ) ( )

Puttindg equation 1  & equation 3  in the  equation( ) ( )

= =lim
x 0→

a - 1

x

x

lim
x 0→

y

1 + yloga( )
lim
x 0→

y

1 + y

1
y

( )

1
y

loga( )

= lim
x 0→

1

1 + yloga( )
1
y
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